30 pazdziernika 2016

Matematyka I, seria 4

1. Znalez¢ granice nastepujacych ciagow:
2" 4n + (=3)" n3"™ +2n° — 5
il b) — o et e
@ =5, () = (©)

n 2n 30 kn _
(d) \/1+nQ+n3+...+nk, gdzie k € N,

(e) ( 109/, 100 +n9% — n), (f) \3/”3 o243 — \/712 +2n + 3,

(2) (f/(n—i— 2)(n+4)(n+5) — f’/n(n%— )(n+ 3))

m4nt (24 nl4nn nl+3n" . [(n?+4n!
(h) sin , (i) = sin | —5——,

n! 4+ n? n+7 n!+1 n? +nn

2%+cos(2n7r)+51% " \/n2+7n4+\/§

W (‘/%jL(%)n—i—nsin%’ Inb + 5n 4+ /n
Odp:: () 0, (b) 0, (€) 0, (d) &, (¢) 5, () =, (&) ., (0) 0, () 12, ) 1, (&) V7.

2. Zmalez¢ granice nastepujacych ciggdw:

14243 +44-+n

(a) ay : pr
() n o 713 )

1232 52 (2n —1)?
(C)CHZE—FE—F?—'— + 3 s

1 1 1 1
d an: )
(@) 12 2373a" n-(n+1)



